Efficiency vs P,

~ 0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.01

10

efmciency vs p

Ratio

i

o
©

)

=

OC
iN

A

0 18 el

matvector_1060evt

.ng‘gagégg%%%‘g RO TLIERS 1000evt

—ehoC

11111

Y A [ -
L N0): N BT SR R E—
2 E : : :
SO.07F i . | R
5 E : : :
0.06F++[f--efeeivereens R TR 1| B
0.05F- SRR S S £ S
0.04f- L
0.03F (-t 1 E{l-bp oo AT
0.02F -
0.0 i b AR L -
E hi D e
o C;: P (| O O | PO | P IS P I 1Y P PO
5 b ;
e t
2 -1 0 1 2 3

s 0.]
£0.09E
3 oE
50.08F
o :
0 :
20.07E
q_) .
0.06F
0.05F
0.04F
0.03E

o.oz%- LT T
ooyl tilfy - T M
:i I-n-I -:;. . ;:-u:u-l- 4 . a -_‘-n-I

OFt

A

Ratio




	Contents
	Page 1


